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3. The solution set of the compound inequality
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4. The solution set, in interval notation, of the inequality
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5. If the points (~2,6) and (a,b) are the endpoints of the line segment
whose midpoint is (—3,4), then 3a —4b is equal to
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10. A point that lies on the line that is perpendicular to the line
y—2x-1=0 and passes through the point (1,3) is

5 =2x <]
@(2’5j E.n. - (x-i)
() (L4) -t JI-3= "¢
() (0,1) \ﬂ - =1 2 +3L,_\_3
(d) (-1,3) 2 1
-1 & =
(€) (_2,%j 3 - —5 x 2
)+ E -2
A= =D J = 2" 2



(l —lj is equal to
8 2 1

| 3 ==
@e-H e ?

1
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12. If the vertex of the parabola y=—x‘_2 +8x+2¢ is a point on the
x —axis, then the value of ¢ is equal to
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7. The domain, in interval notation, of the function
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8. The range of the function
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13. Which one of the following statements is TRUE about the graph of
the function f(x)= —2x? +2x+ % ?
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(b) The graph has no x —1intercept

(c) The vertex is the point (—;—,%)
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15. Which one of the following functions is an odd function?
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16. The graph of the equation \xy[—\y—1‘=2x2 +1 is symmetric with
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17. If the graph of the equation y = x® +x+1 is shifted left horizontally 2

units and shifted down vertically 7 units, then the equation of the new graph
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18. If (fog)(x)= 21 " then which of the following could be functions
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19. If f(x)=v1-x* ,then (fof )(x)=
(@) |

(b) x (JCO}C)“): f(f(n))
©2-x* -:-f(/:_--?\‘)

d) 2

() V2 + x2 = _,{;/'“, _,,\,""“{,}7"
=) 1-Cl-x*)
=i sl
=12

20. If f(x):—x—?)— and g(x) is the inverse of f(x), then g(-2)+g(2) is
o

~/
equal to oFf'nJ 70() ;-.,C' ()
(2)8 - Y 2 -
(b)10 x: vz = A -3% = 4
(d)6 ;
3 X
(e) 12 = J-= poyy
= g = 25
j(-Z) - 3(-) - -4 =2
-2—| B
- 3C2) . £€-4
Jge) = 2= 1
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22. If the graph given below represents f(x), then graph of the function
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